

House of Character in Qormi



Qormi, Central



€362,000

Reference No: 240311001-1376

 Total Rooms: 7

 Floor Area (m²) : 148

 Bathrooms: 2

 Bedrooms: 2

House of Character - For Sale - Qormi

QORMI - HOUSE OF CHARACTER has still all its old traditional features and is situated within the village core. Accommodation consists of a welcoming living room ,kitchen/dining and a bathroom. Upstairs one finds 2 bedrooms and a bathroom. Would make a wonderful home.This property is being sold Freehold .Call one of our Agents for an immediate viewing!!

Features

- ✓ Water Utility
- ✓ Electricity Utility
- ✓ A/C
- ✓ Pattern Tiles
- ✓ Yard
- ✓ Air Space

Rooms

- ✓ Living : 3.3 x 3.1 m (10.23 m²)
- ✓ Bathroom : 4.2 x 0.86 m (3.61 m²)
- ✓ Bathroom : 4.6 x 1 m (4.6 m²)
- ✓ Kitchen : 5.3 x 3.06 m (16.22 m²)
- ✓ Hall : 6.1 x 1.04 m (6.34 m²)
- ✓ Double Bedroom : 6 x 4 m (24 m²)
- ✓ Double Bedroom : 4 x 3.3 m (13.2 m²)
- ✓ Open Space : 5 x 4 m (20 m²)
- ✓ Box Room : 4.8 x 1.4 m (6.72 m²)

Gallery





RE/MAX Masters - Qormi
RE/MAX Masters - Qormi

M: 22265300
E: qrm@remax.com.mt
T: 22265300

RE/MAX Masters - Qormi
4Triq Antonio Muscat Fenech, Qormi, Malta